Chapter 9 Review (Solutions)

Thursday, December 6, 2018 8:50 AM

FMPC 10: Chapter 9 Review

Svstems of Linear Equations

Solve each system by graphing. Change each equation into y =mx+b if necessary.
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2. For which of the given linear systems is (—2,5) a solution? (int: try to verify the solution for each system)

d) 15x+4y=-10

a) 3x+y=1 b) Sx-3y=-5 c) —5x-3y=-5
2x+3y =11 3x+2y=4 3x+2y=4 25x -6y =-80
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3. Solve each system using the substitution method.

a) x+y=94 :\,ﬂ:]c, b) x—y=7 4 ’J<,="\'3( \-\3\,
2x+ =11 24F y== T
23 4(3-3)= |\ 2Ry =-10
x+9 =) 4Dy ty =~
@ I+ 3y =-\O
39z -4
:Q-9 9
=7 ()
c) 3x—4y$_,7‘ - d) x+5y=-11> ‘L:‘\;S’j:\\\
Sv+y=-2 7Y D2 4xS3y =25 T
B~ U(ESx2)= A\ U(‘Sﬂ’“)—%igis
e 209 - -3v°
3% 420x 4R = -\S S23y -4u -0
%%.H 2= -asi <69
Y-S 12 -SER) -\
b: %’2. Y = lG’(\
4. Solve each linear system by elimination method.
2)S6x+4y=29 { 19%120u:=14s b) 3x+5y=12
Lf(Zx—Sy=—l9) e “Qo‘j:::%) ~(7x+5y=8)
23 = 69 LU - L“
3(®) t4y -
~1) +Suw = |12
A+ hy =29 SCH 1oyl
’5+‘53=\0,
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¢) 2x+2y =5) E 10% +4y=\O dB3x-y =9 i G -3y=1S

3x-4y=-23 YH(3x -Yy= -2>) 2x+3y =10 y+ (DX 434=10)
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5. a) Four pens cost 70 cents more than five pencils. Together, one pen and one pencil cost $1.30. Find
the cost of each pen and each pencil.

(et %= Covt of ¢ por

Y= Cotb R & pencd
Rty= 120 - YAl x
4k = 541030 Y:13-0.%
Uy = S(1.0-x)1 o ~ 0.50
Lx - 620-5% + 0.
+$5 * Thae pons €act ot $0.50 and
Q;f:\%o B pencils @ac Cott 0.0

b) The length of a rectangle is five less than three times its width. If the perimeter is 38 inches, find the
rectangle’s dimensions.

g: (,\)iolh\
?Jc*lba%g
2(519'S)+ 2&3’—38
éﬂ-lo ‘fg\\j - 2% ’5(6) _g - . .
4o / Mo X = \M UU\%&L 'S l3 iNches,
' %7 (-5 ond the dts 15 6indws.
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¢) Zachary invested part of his $12,500 into World Oil, which paid 8% interest. He invested the other
part into Sask Power, which paid 3%. If he made $850 total, how much was invested into each fund?

(.Q/t L= th\'.)\/\n‘k n (/\)OF(D( Dl\
»U - aﬁ\m n &Sh@o\"xf
xty- (259 — (12807, - (25D~ ased

0.093+ 0.02Y = ¥50 @
0 .0gx + 0.03 (12,5007 %) =¥60 | o
0.0%¢ +331S -0.03x = 8 Zatkon) invested $ﬁ$§ i

- Coskciyzs Lprld Ol yana $300 ints

Qs Powur.

d) A cyclist leaves home at 9:00 a.m. to ride to his friend’s house 8 km away. He cycles at 12 km/h
until he has a flat tire. He then walks his bike the rest of the way at 2 km/h. He arrives at his friend’s

house at 10:30 a.m. How far did he have to push his bicycle?

ek K = distonet (ycied T - 10D = | e o L Shoue
= dexonee puaed
Y P /\51“ by \R
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: : Tr+Sy =\
R . ,k\'b \'7/- AL &

e ot %_"'S Sy =\O
X+ by =\ Y=

He puened s olke Dkon

e) Kirk ran 100 m along a moving conveyor in 25 seconds, when moving against the conveyor. When

running with the conveyor, it takes him 5 seconds to run the same distance. Calculate Kirk’s average
speed and the conveyor’s average speed.

w 1= e s QV%W

- =
Yr WA avoage speed 7]

t(pry -20)
Speeds 2 =24
Oaam& nvtye Lot Convesp” Az |
Sered © ‘2_2"‘—5 Sped \—SOOSL |24y -2
= Lm/g = 205
Kk-y=Y Yty-=20 Kk's oueroge speed is 2% | end

the Conveypr's vUast pred is B%.
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f) The sum of two numbers is 7. Three times one of the numbers is 15 more than the other number.
Find the numbers.
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g) Two numbers differ by 5. Four times the smaller number is 5 less than three times the larger. Find
the numbers.

(ot &= (arge ®

b

h) Shana has $1.95 in nickels and dimes. There are three more nickels than dimes. How many of each
does she have?

Lt 4= # &R oo
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i) Taylor has $4.80 in nickels and quarters. She has six more nickels than quarters. How many of each

does she have?

(JUt A= # 9{3 naoctho

y ko P
005Kt 025y &

k-ysb Y=oty
0.0S(64y) + 025y > H W

0\2%0.05\9 £0.259° 41X
- 0.
O.S\j =4 <

Answer Key:

Col

a) (23 3) b) (_3’ _5) C) (_45 2)
a) no b) no ¢) yes

a) (2,7) b) (-1, -8) 0 (-1.3)
a) (3s S) b) (_193) C) (_ls 5)

a) pens cost $0.80, pencils cost $0.50
b) length = 13 in, width =6 in

¢) $9500 in World Oil, $3000 in Sask Power

d) 2 km

e) Kirk’s speed = 12 m/s, conveyor’s speed = 8 m/s

11 3
— and —
f)2 2

g) 15and 10
h) 15 nickels, 12 dimes
1) 21 nickels, 15 quarters
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d) yes
d) (4,-3)
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